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PART A — (10 x 2'= 20 marks)

Answer any TEN questions. -

2F , 7.
Write Bernoulli's formula.
QuiCeameSluiair eumiLILIT_EnL 6T(pSIS.
"Evaluate : ﬂmwba xdx. : 8.
e
%
af@He :. ._.mwzq xdx.
’ 9.
Solve : (D? +5D+4)y=0.
&iss: (D* +5D+4)y=0.
Eliminate a and b from z = axy+b.
z=axy+b & Qops a whpb b g Bses.
10.
Find L(e ).
L(e™) "6 EETS: .
] Bsec QV?%@ -
Find the work done in moving a particle in a force Hm..
field m = 3xy i—bz W+ 10x & ,.&obm .the curve
x=t2+1; y=2t*; z=1 from (2, 2,1) to (5,8, 8).
5 R R T o ML 16.
F=38xyi-5zj+10xk - ,ﬂ@_._..o eng  wmeng
x=t>+1; y=2t%; z=1* GTeILD Qgﬂ@gq m_:.:_rs_@:w .
K1) Qm&% (2,2,1) erapyd L%%E%@ﬁ.o@ (5,8, 8) 17.
ar@ib Lerellé@ parssid Qurps), g Gaiis Caime iy
GTEITENT? ’ E
State Stoke's theorem.
avGLr&adle Capmsens eT(pgis. IS;
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.
% sin x 19.

Evaluate dx .

M«mwﬂx +4Jcosx

AGess:, [——————dx.
5 \Sinx +4/cosx
Find the cosine series for the funétion f(x)=x in
©, 7). ]
f(x) = x ergd emiysE (0, 7) & Q&q@gggm:_lng

TGS,
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Find h.ﬂﬁ = u
s” +4

H_Lm m..u _wm:9$$.
2+4)8 :

Find V¢ if ¢ = x2y%22.
o=x2y%2% arafléd V¢ DS FTETE.
Define solenoidal vector.
Qm:&g.:ﬁ_,l% QeusLIT : euanrwIm).

Find the maximum directional derivative of

$=2x%+ www +52% at the point (1,1; —4).
#=2x"+3y* +52° & (L1, -4) agd yiafde
_.mD@_.L@ %msm UMES Qaep m:a%@,.

State Gauss theorem.

FTG QMBBW@.@ T(PSIS.

Molawakies, W
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Solve : (D? —-4D+13)y = e**.cos3x .
m:ww . (D*—4D +13)y = e .cos3x.
Solve : ﬁ%+8\.nﬁ+b. .

§i&s: px+qy=p+q.

Find L(t% cosat) .

L(t? cos at) g& snems.

T V=(6xy+2%)1+(3x2—2)j+@Bxz? —y)k, find

d.
- > A
V¢ =(6xy+2°) ~+Amxw..l.mv\+@8nm -nNk erafley
& RS NS
Using stokeé's theorem, evaluate'

.._, (sinzdx—-cosxdy+sinydz) where C is. the
- .

boundary of the :rectangle O0<x<z; 0<y<]
z=3. .

evCLEen Capmsens LweTLRSS
[Ginzdx—cosxdy tsinydz) «iGelés @ C
Z 5 oy ,

erenugl 0<x<7; 0<y<L z2=38 eramp Qcbeusislen
eTEWITEGLD. | .
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20.

21.

22.

23.

PART C — (3 x.10 = 30 marks) _ 24.

gm._i.wu any THREE questions.

74
Obtain a reduction formula for % sin” xdx .
i 0

._.m.Ea xdx & s@mES umilium_ e smed.
0

Solve : Q;u. - :.wvb +(nx-Ilz)g=ly-mx.

8iés: (mz—ny)p +(nx—1lz)q =ly-mx .

-

Solve using Laplace transform :

2
mwlt+nw.w+§%ﬂmmuh given that y»(0)=0;
¥'(0)=-1.

ey e @morhean LwuauBsd Siés :

2
&||+A&

13y = 2¢™ 0 =
o 5 H18y=2e gue ¥(0)=0; ¥'(0)=

_ .Hvu.0<.m that V:x A.< X M».v =V(V- \mv — QNN ;

<xﬁ<x& V(V-4)- <§ aa%@_m_

.m. . : qmcqm\mwg

Verify Green's theorem for
._.wa ~8y*? v&a+$..< 6xy) &v: S_pmuo C .is the

cocb&mu% of 25 region R enclosed U% the mﬁ,mpmg
lines y=0: x+y=1; x=0.

C aeng @U:&@&:@&Q y=0; .a.+.e 1; x=0 g
eetem S ugd R e arafled

‘_.wa -8y v&x+ﬁ.e gv&Qm@ Hiten mmeemmsu

Q.mdgmc

m_mr_:aam.
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